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AT | & )l & = F 2 49 47 96 25 71
# b B O B4R 42 39 81 10 71
X 2 B B ExR 42 43 85 14 71
Rk O F B Al sLyP 39 42 81 10 71
8T h & B & == =1 44 42 86 14 72
g E ¥ K Al sLyd 45 45 90 18 72
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K E R % 38 39 77 4 73
5 B F 11 EyR 42 43 85 12 73
N BH B E % W 40 43 83 10 73
E B = = B 40 43 83 10 73
¥ )l T B4R 38 44 82 9 73
2O OB OE JUAREILX 37 44 81 8 73
17T | #% [ &Bh i B4R 45 47 92 18 74
2 ¥ = JULAREILX 43 45 88 14 74
E & & & % 5k 41 45 86 12 74
20T | & U B & ExR 43 42 85 10 75
- R ==y =11 42 43 85 10 75
I H MG =[P 44 46 90 15 75
FX -3 = E 37 43 80 5 75
2 5 & 7 == =10 43 52 95 20 75
25T | h & 8§ =2 B4R 44 40 84 8 76
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A fE =FH 39 51 90 11 79
40T | /] £ F X MGRA lLZz—f& 54 39 93 13 80
a2 i XEH #aRY R 48 41 89 9 80
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& B & X FEKE 42 48 90 10 80
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